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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order. ;

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

Write your Question Paper Code No. 69/MAY/4, Set on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,

Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri
Sanskrit and Sindhi. i

e

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other th
English, the responsibility for any errors/mistakes in unde
questions will be yours only.

6. In case of any doybt or confusion in the Question Paper, the E :
will prevail. : nglish Version
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SOCIOLOGY
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| RN - 83y
Time : 3 Hours ] it _ [ Maximum Marks : 100
@ : 39 ] = | [ Tt : 100

Note : (i) This Question Paper consistsiof 49 questions in all.
(i) Al questions are compulsorys
(iii) Marks are given against each, question.
(i) For Optional Module, attempt all questions either from Optional
Module I or Optional Module II.

(v) Section—A consists of Question Nos. 1 to 25 and Section—B consists of
Question Nos. 26 to 49.

(@) Q. Nos. 1 to 17 and 41 to 43 are Multiple Choice questions (MCQs)
carrying 1 mark each (1x20=20). -Select and write the most
appropriate option (A, B, C or D). :

(b) Q. Nos. 18 to 25 and 44 to 47 are other objective-type questions.
Q. Nos. 18, 19 and 21 carry 2 marks (with 2 sub-parts of 1 mark
each) and Q. No. 20 carries 5 marks (with 5 sub-parts of I mark
each), Q. No. 22 carries_3 marks (with 3 sub-parts of 1 mark each),

Q. Nos. 23, 24 and 259’39_arry 4 marks (with 4 sub-parts of 1 mark
each), as well as Q. Nos: 44 to 47 carry 1 mark each. Attempt these

questions as per the sifistructions given therein with each such
question at 18 to 25 and 44 to 47.

-

(vi) Section—B consists of Question Nos. 26 to 49 which consist of

descriptive type questions ‘as-follows :

(a) Q. Nos. 26 to 31 and 48 are very short answer-type questions carry
2 marks each (2x7=14), to be answered in the range of 80 to 120
words. :

(b) Q. Nos. 32 to 38 are short answer-type questions carry 3 marks
each (3x7=21), to be answered in the range of 150 to 200 words.

() Q. Nos. 39, 40 and 49 are long answer-type questions carry 5 marks
each (5x3=15), to be answered in the range of 400 to 500 words.

wm: () WW—W'&@H49W%I§"§
(i) wft v FFEE R =
B (1) mm%mﬁmﬁaﬁg%“
i (iv) Wﬁﬁ@ﬁmm?ﬁﬁ@ﬁu@gmmﬁwn%mﬂwm
‘ {3 .
(v) e § T g 1 ¥ 25:7% W WR—W ¥ W FE& 26 ¥ 49 T )

=l
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| nmati-Educations
98991136384, 965421279



(b) == HEA 18 ¥ 25 W 44 ¥ 47 3= TP v ¥ w9 & 18, 19 W
21ﬁuﬁm%2a&as§(1aiaamé2m—wﬁw%a)qémmzp%5
3% ® (1 3% I 5 J-uA W), W @A 22 F 3 30h ¢ (1 3 A
3 39-urll WiXd), ST G 23, 24 T 25 F w4 ¥ 4 3% & (1 3F A
, 4 IU-Tit Afd), T T 44 ¥ 47 F wOF w1 ] 3% 2 = IE F ITN
18 § 25 T 44 ¥ 47 ¥ R W FEwmgER <Ry
(vi) WUE—wH YW & 26 ¥ 49 % TS T §)
(@) mﬁwzs%m@immag—aﬂfmm%mﬁm%Qaim%(2x7=14),
TRAF H IV 80 ¥ 120 WL A i F siw A
(b) mﬁwszﬁasag-aﬂaamﬁ,m%331%%‘(3x7=21),9ﬁ$$r
SW 150 ¥ 200 W= A €91 F 3iew R ,
() mé@r39,4oqé49?ﬁﬁ3ﬁﬂwm§|9ﬁa;%53i$'§(5x3=15),3lﬁ$
H IW 400 F 500 v} A dm F 3w AR

r(l) Answers of all questions are to be given in the An
T 96 F IW AR QW Iw-yfemw § & R

(2) 15 minutes time has been allotted to read this questibn paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question Paper only

the Answer-Book during this period.
T TH-9 W Y4 & g 15ﬁﬂ¢lwﬁmwélm-qawﬁm?ﬁqaﬁ
2:15 == fFm S QuE 2:15 =9 q 2:30 99 d% B Hael YFH-IT I @A 3K
| T AR % R ¥ Sw-gfeE W wE W T R J

: )
swer-Book given to you.

and will not write any answer on

SECTION—A
Els—h

Answer the multiple choice questions :

wEfreed i % I AR -

1. Which of the following has a territorial basis? 1
(A) Society : (B) Community
(C) Group i (D)  Club
Frafafaa & ¥ fram Sfw amaw 27 ,
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5, Which of the following is created by people for a specific goal? ' 1

iati
(A) Association g (B) Society
(6) Group z:fj; (D) Community
fo 1 0 e e 2
1 2 g wm
of & o
3, Which of the following matches to village life? | e ¥
(A) Individualism ) (B) Urban oriented '
(C) Group feeling i) (D) Techno centric
frfafes & A WF-w oefo Sfew @ A9 @ g
WeREr o v O B e
(C) g W& (G gé (D) deh-ftehl-himd
L
4. Economics studies the aspects of )
: = ¢
(A) production . o % % (B) distribution
(C) exchange . () (D) All of the'above -~ '~ 1
I Tegal 1 A F@ 2 § 5 o7 |
(A) ScareT R (S (B) foaww _
(¢ fafrm . Buowbh | (D) vww @t

5. History bases itself on an analysis? g, iiovest ledinse adi 1e

(A) observation ‘i;} (B) documents

(C) general studies 1 % (D) comparative data G, d G
 3fem @ Wﬂmzlfﬁg s wfedt ool B opm

(A) FEAEA b 81 8 (B) THES
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6. In primary group, relationships are

(A) intimate (B) formal
(C) positive (D) wunruly
s T & fod €
(A) i@ (B) 3=
(C) THITH (D) =frifta
7. Endogamy is a custom that requires marriage within which caste/group?
(A) Upper caste (B) One’s own group
(C) Outside group (D) Lower caste
mﬁmmﬁmﬁmé,ﬁnﬁﬁaﬁﬁmmﬁr/mﬁmm%?
(A) 3= wfy (BY oY & @z
(C) ¥R T ¥ TR (D) F= wify
8. Decline in death rate has led to :
(A) increased population (B) decreased Population
(C) stable economy - (D) unemployment *
T R H T o g 2 fre "
(A(mﬁw 7 9fg (B) SwEe # s |
(©) R srfsmn (D) et it 2
9. In which year the Santhal Revolt of Chota Nagpur in Bihar took place?’ © 1
(A) 1831 (B) 1857 e
(C) 1855 (D) 1821
R % BlermR § worer fage few w & gam w7
(A) 1831 (B) 1857 ‘
)
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T £5 "

our country, educational institutions are

10. In
(A) free from corruption (B) not free from corruption
() honest (D) dishonest 1
R § fgw W R
() YO ® 5 N (B) ¥EER & b T
fic) <R 5 D) ¥
11. The followers of Judaism ‘are referre;} fo as
(A) Mazdaism ﬁ (B) Jains -
(C) Buddhists / S (D) Jews 1
e B FgARE A FE R
(A) wEEE (FEE o) ) (B)
() = g (D) &
12. Sanskritization means the ___ cas‘te?ﬁecommg high caste. -1
(A) lower S - 5—:;% (B) middle £
(C) upper E—‘_ =2 (D) Indian
depdi 1 3 2 i 1 3 mf%’f Lol '
(&) f= Ly (B) Wem
(C) Fal j' (D) W™
13. During Treta Yug, the Jatavs were
(A) Brahmins e ~ (B) Kshatriyas -
(C) Vaishyas 1 (D) Shudras SR 1
T | -
e 1
(a7 S | 53 (B) &6
g-,.
(©) asu E == D) &
ﬂqunmmm
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14. The occupation of the Brahmin was
(A) leather work

(C) business

(B) priesthood

(D) barber
SRV HT U o
&) w3 = (B] g
(€) =mr D) 5
15. Buddhism acquired a dominant Posttion in Indjg under the rule of
(A) Emperor Ashoka (B) Akbar
(C) Harshavardhana (D) Pala
zhmﬁmmﬁm#mmﬁm@wnmwﬁmm?
) W i (B) 3
(C) | (D) um
16. The €conomy of the urban Society is L ‘
(A) monetary (B) agriculture
(C) barter 7 (D) market_ )
w@wmﬁﬂmm__m . |
(A) s B)
(©) wg-fifim (D) awm
17.

Sikhs are the disciples of
(A) five Gurys

(C) four Gurys

| R s §

(4) 99 st &%

(C) =R T3t %

(B) ten Gurus
(D) two Gurus

(B) <@ oA %
(D) @ TR F
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18. F‘lll in the blanks :

1x2=2

e T B Ui il

() The process of socialization is a process.
() temporary ~(B) short period
(C) discontinuous E—i (D) lifelong
(A) et a:i:"__tg (B) Iea R
(C) 3T - = (D)

(i) Social change is considered to%
(A) radical (B) value neutral
(C) desirable (D) flexible
g giEd e S 2
(A) et (B) TeI-aeEd
(C) Tt . . (D) v

19. Fill in the blanks : 5_} - 1x2=2

(@ ____ is an established Wair: of doing things or behaviour
(Organization/Institution /) Soc1egr) :

(b) A family of husband, wife and: ainmarried children is known as a/an
_____ family (joint/extended/ nuclear).

s Tl A gt P

(%) __ma@mwnaﬁtﬁm@wﬁﬁaﬂwﬁ (TS /HT /EH) |

(@) iy, oo 3R s w=t 9@ ofer F __ WRER e 7 (9w, e/
THE) | | ) '

20. Fill in the blanks with one word ;”_ 1x5=5

(@) A woman marries men who arebrothers This practice is called

(b) Marltal relatlon which is proiubited between father and daughter,

" iriati Educ; “II I@ il
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() The marriage in which a boy from lower caste marries a. girl of higher
caste is known as :

(d) The term ____ describes a person’s bilateral set of relatives.

(€) The kinship usage in which two kinsmen do not address each other
directly is called _ | ‘

T W § e wH A g hif

, 38 a5 @ |

(®) =7 5

5 m%arﬂl?qam ﬁ@amm@mmmqﬁm,a@m

21. Write True or False : 1x2=2
X )=

(@) Domestic violence on women is above caste.
b) Daught
(b) famifrl_ €IS enjoy the inheritance and Succession rights in patrilineal

() W%Waﬁmaia%mmﬁgm%l

“‘Unnafi Ediications

899436384, 9654279279



20, Write True Or False : 1x3=3

(@) gociologists collect their data from archives.

() gociology is an observational sc1ence
i -.. .r.’

(c) Political science conducts a study of all institutions of human society.

£ =y

@ 7 TEa AR =
(m)m@wmmm#mmél
()W@Wﬁm%l

(1) mﬂﬁmﬁwwﬁmwﬁwmw%l.

"
TL,
WO

i,
o
Wy

23. Match the Column—A and Column—B : 1x4=4
Column—A Column—B .

(@) DINK E{i} State of classlessness
Gt ’

(b) Authority Z=(f) A person who is the basic point
__:___; of reference

(c) Communist society Eﬁ) Employed couples who have no
= 4 children

(d) Ego (iv) When the power is legitimate

A 1 Fe—B & fem Hi

W—A HiAd—B
@ T Ry 0 g 1 fed
(b) T i (i) e =Afe R MR W AR
5y fifvaa it Indt @
S f’? i) Aty e e, o g e &

(iy) & "1 9Y B
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\ 24. Answer the following Assertion-Reason questions :

FrefaRes qEr-wre v & IW AT
() Based on the following, identify the correct option :

Assertion (A) :The rural and urban societies have a contlnuous
interaction among them.

Reason (R)

+ Continuous face-to-face interaction by both the
communities,

(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
%%mm@ﬁmﬁwﬁﬁq
=T (A) mﬁmm%mﬁwmmmwal
: W T PR o e
A (A) 7@ 3, A (R) T 2 | |
(B) (A) Tem 2, aﬁ»—-r”(R)u%a% Lo
- ¥6) -cﬁq‘r(A)aﬂ:(R)aa%%
(D) T (A) 3f (R) e & é

FN (R)

(i) Based on the following, identify the.ci(i)rfeét op tiorii —HEIE [ A
| | Assertion (A) :

Caste system is based on ritua] criterion.
\ Reason (R)

: Class is not based on secular Criterion.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true )

UmatlmEducatlons
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1:"ﬂ:r%riﬁﬂ%;am“‘:r{‘:‘_é:'ﬁi“?"ﬁ“ﬁﬂ:fﬁlﬁm:
T (A) ;I e wEmE W osmRE 2
FOI(R) : o il wwest w smuia T 2
(&) (A) ¥ %, 9% (R) Tem 2
wwm%%mmﬁ
(CF 3 (&) 3 (R) v
(D) ¥ (A) 3R (R) T &

¥ e R !
o ) 4
S | .:..15

ra®)
W

‘L...a i

(i) Based on the following, identify the correct option :

Assertion (A) : Patterns of social change are like rhythms of nature
such as day and night which has a pre-determined life
cycle.

Reason (R) : Rapid changes on a closer look are found to be a
repeating set of activities that do not form a cyclic
pattern.

(A) (A) is false, but (R) is trug___i

(B) (A) is true, but (R) is false j-—g

(C) Both (A) and (R) are true ;_J

(D) Both (A) and (R) are false_——e
frefefge % YR W wE fawed ﬁ‘ﬂﬁm T

AT (A) :mmﬁwﬁ%ﬁﬁmﬁm%ﬁﬁq 3ﬂma Rt
w @ fPuia se-a5 2 Rl

F (R) : O GREdH, T § @, TRfafel F et 9 9ug Wi @id
%ﬁtﬁﬂﬁﬁﬁmiﬁﬁﬁqﬁmﬁl

(&) (A) T B, oFF (R) @ ®
(B) (A) @& 2, dfe (R) To@ @
(€ 2 (a) 3 (R) 7& 2
(D) <rt () 3R (R) T &

& Unnati Ed““'MMMMM“’m.
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(iv) Based on the following, identify the correct option :
Assertion (A) : A girl child has to suffer discriminatory behaviour in

our society.
Reason (R) Girls‘are deprived of their educational opportunities.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true -
(D) Both (A) and (R) are false 1 x4+
fafafes ¥ amur w Tgt fosheq it vgam Hifdg -
&l (A) :mmﬁag%ﬁa%waamm%mél
PN (R) : wgfpal s Rign & smed @ fm 2
(A) (A) &8 B, afF (R) Tom 2
(B) (A) ™a &, a7 (R) v 2
(©) T (4) otk (R) et &
(D) Tt (A) 3R (R) Tera &

25. Read the following passage carefully and answer the questions that follow :

The notion of development is a recent phenomenon. It refers to a change
in the desired direction. It is a strategy of planned social change in a
direction that is considered desirable by the members of a society. It is
contextual and relative in nature. The notion of development may differ
from society to society. This is based on socio-cultural background,
geographical and political situation of the society. It is a composite
concept. It includes progress in various other fields like trade, agriculture,
industry, health, education and so on. Along with this, the welfare of the
weaker section, women, sick, old people, unemployed are some of the
considerations. Thus development is a value loaded concept that takes into
account the sccio-cultural and economic needs of a given society.

(a) Explain the strategy plan of development.
(b) What is it based on?

(¢) How does it include progress?

(d) How is it value loaded? 124=4

sebnnati Educatiomsmmmmm
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ﬁﬁ%ﬁamﬁmmﬁm&mﬁm

S $t srmumon @ @ 5 a9t #§ ReRe o 2 o wE difta e § aied @
/) &g T % wed g aieda wneh W Al T R § ghERE i aied
B ey B 7 i s R TR A /1 o fem w1 e w e
AR A F S-St R W }) 9E FOY B AR ge, s
mmw«mm%uﬁwﬁm-mﬁm%mﬁmﬁm%
SR -=w, HfY, 6, e, R sk 6wl aRie o 2w F e, FER
|, wftens, stem, g, e ¥ semesEm o fewh g § ¥ g 2
Hq: o T Tea-wiaia fem R, Rl i -aiephe qon ofiis e
® wH ¥ e s 8.

(%) fo@ 6t wrifa Qs H =men St

(@) 9z fpm w amufE 27

(M) ¥ wiia %@ wive gde

(T) I® gea-uigia foem &3 27

’ll

1‘?-._

e

SECTI_p_;vé—B

=,
¥

i i
.
N

Answer the following questions in arouncf‘-.g_":o to 120 words each :

FeffRad § 4 IS T B SW T 80 ¥ 120 T # ffaw -

26. (@) What are the problems faced by the Scheduled Castes?
ggfa sfaat foem guenstt w1 e S 27

Or / sat TNy

(b) What are the various problems i}%;‘c;ed by the Scheduled Tribes?
o
) ' P
\ =?—"—"—“~
27. What kind of health hazards are child_Jabourers exposed to?

~“UhAaH Edueafions
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S R AR M_f,L

28. (a) Explain the term ‘Kibbutz’.
PR & =men R
Or / srerr
() What do you understand by a Neolocal family?
I TS aRar & w wwe §7

29. Define the term ‘crowd’,

g = H i Hiftg

30. What do you understand by the rules of descent? 9
TWPE F Pl A o wn gy # |

31. Explain the term ‘customs’., 2

T Wy AT Hifg

Answer the following questions in around 150 to 200 words each :

Feafafed § @ v w9 =1 3w o 150 § 200 W=} § &fw .

32. (a) Explain the role of socialization in the personality development. 3
=fee fowm # warsiiem 6 e § e St
Or / JH¥am
(b) What are the cultural factors of sociél change?
TR TRad % wiephE HRE T E7

33. Highlight the features of the caste system.
Sfa =FaeAT hl [aRiwarstt Wy e

34. Define and elaborate the term ‘association’,

wu' TR H R w9 @ e Hifv

35. What are the features of a primary group?

Unnmati-Educations
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- 36. (@) Explain the major characteristics of urban societies. 3
& Tt A yE e f smen Hikm)
Or / 3yan

(b) Differentiate between Varna and J 31’.1
E‘*&.
T 3R wify % di9 st wE ﬁﬁml

l{ﬂ

9

37. Discuss the concept of social stratlﬁcauon given by Karl Marx and Max
Weber. _

g ’*:._}

ﬂﬁmﬁaﬂ(ﬁwﬁmmﬁaﬁmmﬁmmﬁﬁﬁm

' 38. What are the characteristics of caste?

h"‘%. ,,-_1

Answer the following questlons in around; _@O to 500 words each :

ﬁq%%aﬁﬁmmwmm 400%5@@3@1?1%

' J‘

?
39. (@) Mention the characteristics of trﬂgia% society.

SN qATS 6 fomivaret w1 3g@ Hifv)
Or / 3yar

(b) What are the major problems faced by street' children in Indian
society?

m@umﬁnﬁﬁmﬁaﬁaﬁ%&g@aﬁa&ﬁmeé?_
£ 2)

™

40. Explain the characteristics of family. izﬂ
IiER $ fagwasi =1 @@ i

Unnati Eﬂucatlons |
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OPTIONAL MODULE—I
( Status of Women )

Fwicus aigga—I
(qi%maﬁwmﬁmm)

41. Gender di ; :
s
which Aruci:'lpmmauon was prohibited by the Consututmn of Ind1a via

‘ (A) Article 15 ' (B) Article 14

I (C) Article 24 - (b) Article si

‘ | : , ) e L

[ ﬂwﬁarm%mq:mIﬁRT3E§&:%;qwmwa“ﬁﬁﬁ;ﬁama*m:ﬁa#éwm%ﬁéEﬁ?
ATHE 15

(©) s=dz 24

(B)  ig=8g 14
FTedE 31

(C) 1955

(D) 1956

(B) 1976

(C) 1955

i}

Unnati Educatlons
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43. When was the Widow Remarriage Act passed?

4S.

(A) 1855
(B) 1856

h

1l
it
Hharen

d(.mxl

(C) 1857

! .s.’f:ju..

I
L

T

(D) 1858

foeen gfere arfufram % wiw gan
(A) 1855

I ’

I] :Ilf’.?

1%

a1y
i |
¥
i}

.lﬂml

(B) 1856
(C) 1857
(D) 1858

= | Pllu
! u =
2 lﬂ':unll

ol

Fill in the blank with one word :

Women monks composed verses wh

T T § R wE g A
TeaEt R Y e R, R

an E‘lh
i
st

%-...j’

("

.ﬂ::;mll !

Fill in the blank :
In the period of

looked down upon. b st i

fh @ H gid HIRT :
%gﬂﬁwﬁaﬁﬁmﬁm?ﬂg
SIGIRC I =
203

Ry el
Bisl

Write True or False :

Jainism and Buddhism took roots arog

H‘aﬁmm%ﬁﬂ :

\

- came to be known as

, child marriage was encouraged and widow marriage

¥

o it faven R A 4 2 2 B

nd 6th Century BC.

m%mmaquﬁaﬂxaﬁauﬁ%a%m?ﬁl

U nn at I E d L %IMIMMIMN?{ PT.0.
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47. Fill in the blank :
The sex ratio in India as per 2001; Census is ____ (927/933/ 960),
i ®m & ff i
SFCHT, 2001 % aER e # fm agma _ ® (927/933/960),

48. () What was the status of women during the Vedic period?
MRS w1 § wemait TRufa = oty
Or / Jean

(b) Name the fiyo Dharmashastras and their code of conduct.

aw*ﬂmwmmw.

el Hie
41. Knowledge, beliefs morals, laws anqg customs g
(A) religion € the examples of

(B) culture o ; : e
(C) material culture *

. UniiatiEducations
1895436384, 96542BORY
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(A)
(B) wepy
(C) wifvw wwpfy E:_"—wj
42. Geological Survey of India was estal;;:;iled in |
(A) 1921
(B) 1916
(C) 1925
(D) 1926 Y 1

o l[
121y

WA - wdaw B e e g g

(TR
_!]mu I,am,
b

(A) 1921 _

(B) 1916 -y
LN

(C) 1925

(D) 1926

43. Time and space dimensions make culture

7 f

(A) learned s

34

1?""1.

(B) way of life

E
‘hmd‘]

)

i
e

(C) understanding

.11 “

!lglﬂl!.!l

(D) dynarmc

= Unnati Ed“?ﬂMMMMFm
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T 3R wm % amm g B N 8
(&) @ gan

(B) Siaw Y w1 we

(C) Tz

(D) ifersfter

Explain in one word :

It’s an integral part of Mahabharata.
U g § waru ;
I® TENRA %1 it 3 R

45. Fill in the blank :

were the great patrons of literature.
6 wm # gff hiftre .
__ Wit % HEM e 9

46. Write True or False:

Mughals were famous for gardens.
& I e TR .
e Sr-wiEl % for wieg 9

47. Fill in the blank : 1
received the 2024 Nobel Prize for Physics_'

for T it gfd Hhifse
3 Hifest % fog 2024 F e R ¥y

Unnati Edugaﬁons S
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| 48 (@ Discuss any two aspects of our culture to know the Indian Cultural
Heritage.

wmmﬁm%ﬁmmwﬁﬁﬁm@ﬁﬁﬁaﬂ
T’ﬁfﬁﬂl ;’F

Or. / srean

25
(b) Mention briefly the names of a; few writers whose works have entered
the realms of heritage. E

@@W%wmmﬁﬁ;ﬁ@@ﬁq fo) T fd B g & o
Lel

2

49. (a) Highlight the contributions of ancient Indian scientist. 5
YA YR S % dreEl St ST

g
Or / HYar ﬁ:
sFms

(b) Differentiate between norms—and values.

wﬂaﬁaﬂtr@‘t%aﬂa:ﬂmm%m

* & Kk

al
g
O
LD
-
a
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